Divide by 10 (J)

Find each quotient.

2.7711 = 10% = 2905+ 10% =
0.9011 = 10% = 3.7604 = 10% =
5.87 = 10% = 6.4 ~ 102 =
6.47 - 10% = 5231 =~ 10% =
6.42 +~ 10% = 8.462 ~ 102 =
7.9902 =~ 10% = 1.006 = 102 =
2.801 = 10% = 4.1 ~10% =

47 = 10% = 2.863 =~ 102 =
0.143 = 10% = 94 +~10% =
2.11 = 10% = 3.998 =~ 10% =
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Divide by 102 (J) Answers

2.7711 + 10* = 0.027711

0.9011 + 10% =0.009011

5.87 - 102 = 0.0587

6.47 + 10% = 0.0647

6.42 + 10% = 0.0642

7.9902 + 10* = 0.079902

2.801 + 10*=0.02801

4.7 +10% = 0.047

0.143 = 10* = 0.00143

2.11 +10*=0.0211

Find each quotient.

2.95 +10%=0.0295

3.7604 + 10% = 0.037604

6.4 + 10% = 0.064

5.231 + 10% = 0.05231

8.462 + 10%* = 0.08462

1.006 + 10* = 0.01006

4.1+ 10%=0.041

2.863 + 10° = 0.02863

9.4 +10% = 0.094

3.998 = 10* = 0.03998
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